Physics 481: Condensed Matter Physics - Homework Solutions 5

B blon. €4 "
Ny Iy _/”_‘5__7
AR | | !
A DA mea .
A3 A A R ik
AZAATD AVA 5 73 s
—2 AT —
A A A | [ A
41 +“ tL&
V]);k e A(k) : V‘Bm | Hg(k -, )
(k) (1)
Ml
Aum) < 3[@
V\E hA
n (t)
Lwit k% _ﬁi‘i = X

x = |t
]x:—i(lﬁ?ﬂ goldee it




Problem 5.2
= 1
a) F AR ) S TV
! JR R
l
) { 1 P
V- Lo nhg
Ok L _
m—— ,4 K
TR A —H—n?”zj =0
b1 h A [ wA
K, = ;;:L R. (?laﬁt
5) 7 qzﬁﬁz
t":ZNi_gr&“l(M) +/4(
L 1
v i g 4]
m - weien |
c) Coa [
- E(w) +i6R (570)
azﬁ : _ ¢ L [ne) A
;—Qq= Zli %L.L MRML E
‘e 2480 () mlg
g & ]
B_ELIED ZN E 7’3 RO'S
Zuu

et o (o)







Potln 63 ;
Tk O T
6\) i) ~t e a = ¥
ey} 1
%) /Li I
e a2t . K 3 =
Nor 1 j . = Jos ky 1 (}())b‘l‘)
2K Q
~_ 1
- (A )““ - 2 Ko, kT
P T 5

$) o= q[[oj 8, + (o f@,“’%) L (Ql'*‘“*"’”)j

N
Xu® A D”‘"Qr + + iy (9,-1—--. Qp)j
C) 4 L
XZ CLZ Z Coj( P 9[, ) [v)(): QL )
N i [=1 U=t
J
' dl ! J &
5 &= L2 B+ L0 6 20 91 g B
S o L (ﬂ L= (e }oe =1 L=t
1ok Yo
W _ kDt A0 T, [‘fi—T
T@%jdg e = E
kg
- VE'ABT *Z/la = 4 K



o Lyt
& 3, L
& ¢ { >= ¢ K e Uk (Jd&)
o ka =) bkar
. @ k CLJ ) 2 (v q)
; d = ker
calbe - A2 S R W
<{f c e {> = 4 bk
= L(JT b1 _
2 = : VoK ‘-Lk“'} ! LIQ)I
) : CL{Z (ZE \ B £ o B,
J <k
Y
& cg—[ Z( e +1)
1
Ca,r‘-} p A for s oV (<'j ( ZKL-" b 1 LL 17
% kal B
- “y kT
A e R %
- - & | - ¢ R

) ¢ 3! /‘w«
[
mbf{

1 — =
T,EL Z (ﬁ“‘l K . 'l) M{jfﬂ/f X P2 atioe
L =
J

A él’r—u/{u/fr




